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@ Theorem b 4: Let s> 3/2

(a) AsSume that the weak solution u of (1),
i.e. the solution of (4)ye (3F!),
be(@nﬁ’s-f{m HS (T)) . Then u satisfies

the DG M-@mh’@ (%), |

(b) Conversly, if u'e H(2) n H (T,
satisties the D& a.dem%f{j (%),
then u s also +he sclution ¢ our VP (1) ,

@"m@{_; (a) Mmsv/ (b) vamg®
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D& ~Scheme: Y
Let us define the D& - cpace | ’%Hslﬂ)
Vi (1) = {vel, (): vI e () ¥ieT JeH )
Then the D6 scheme reads as follows: ‘

) [Fond wvoe € Ve(T):
T | 0, Cuw) = oo Pie VelT) |
(©), | Fod e ®™: Kowumho i

® Remark 4.
A. The Dirvchled BC u=0 ou I s (1 Corpolatel
in (%) resp. () ! (mms) |
2. p=-4: SIPE =Symmetric Inleriar Penalty Galerkii
BH=44: NIPE= NanSJmuehfc IPé
f'.\"': O: 1IPg = Imwuﬂ(@i‘f IPG
VES ! Show Vi(T,)-ell. A =T of 0, (-):) wii D6 mm?




